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A £ 0 &

202839 204 LEHSIH SO0 Xl 2t

At

3 Al A

(o]
=

S ZHOILT D
HE: OIHX 2N 2 SSMA (&Y - SAILLHEXI/HIHKI L RH2HE)
=2l UKl =2 K& (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
A0 X 2 7,202,320 8,669,645 1,467,325
= 966,195
= 180,860
| 106,715
= 1,013,661
= 4,934,889
%gﬁtﬁﬁ L M (A - SAIHLHHK/OIH AL 1,048,3% 1,434,544 A386, 149
= 16,875
| 20,5%
= 286,068
= 724,857
ORIl == XI& 1,014,405 1,222,590 A208,185
= 16,875
== 283,563
= 713,962
OIHX 22 Y 2= 3,000 10,000 A7,000
201 LBr2IY| 2,000 9,000 A7,000
01 ALR2r21H| 2,000 9,000 A7,000
OUUNES 22 HE U 2
2,000,000& =14 2,000
202 (bl 1,000 1,000
01 =LHOIBI 1,000 1,000
olUXZE gexa
100,000 «2H +53| 1,000
HIIAA A K&~ 9,705 6,213 3,492
= 2,915
= 6,790
403 NXIHHISAHE0H 9,705 6,213 3,492
& 2,915
= 6,790
02 I 2SS A=A | AL I 9,705 6,213 3,492
OHIINE NHEXA(HLSE =28DI)
9,705,000& * 14 9,705
T 2,915
o 6,790
AT X F=EXRAIH(2OHEEXIH) 215,600 224,000 A8,400
& 64,680
= 150,920
402 QI2ERHE0I M 215,600 224,000 A8,400
& 64,680
o 150,920
02 QIZIXH2AIH E R (OIS ) 215,600 224,000 A8,400
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2A:

I‘I ZH

C,l»ol

ZHMI0L Xl 2t
A e
©OOIHA =

- ZAILLUUXI /AU KR RHO0 )

(etel: &)

S - B OR(B) - HSAY - BAS

Ofl ot

rS[El=
PET

—

HwS2!

OLITHAOIU X =X AAIS

(1790132)

215,600,000 * 14!

Mo

215,600
64,680
150,920

ZADIA SSAE EX

Bl XI&AS

Ao

749,650
210,100
539,550

970,577

N220,927

402 I X201 ™

I'

=
~

U

749,650
210,100
539,550

970,577

n220,927

02 IAT2AILEER(0IEHA)

2

OZADIAZSAIE Xl XA (M=22l +

749,650,000 *14]

HH

749,650

749,650
210,100
539,550

970,577

N220,927

NASS

DI JIAAIE(EHOID=

) B2 =&

Ao

2,700
810
1,890

1,800

900

sA=01d

M

2,700
810
1,890

1,800

900

OIAHEIIED|(EHOIN =)

02 I 2S0Het X=X 9IS AL
S

SAE

60,0002 %4501

A

2,700

2,700
810
1,890

1,800

900

LPGEI| ALZIt7 A& RS AL

EUR I

33,750
16,875

5,063
11,812

10,000

23,750

403 A SHHSAH=01H

>
o

VRN Y

33,750
16,875

5,063
11,812

10,000

23,750

02 3012

SOICHEtX 2 X 2IEF AL I
OLPGEI| AFZIt= AIEHE AL

225,000& #1500t

MW

33,750

33,750
16,875

5,063
11,812

10,000

23,750

AU HE R 23

S

A H

33,990
20,5%

2,500
10,8%

211,954

AT7,964
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2A: ZHO0U X 2
M OIHAl 2t 2 ZS30H
=]

=S S - SAIL LUK /OIEXI L RH2HE)
Sl ATHEUA g 2 =2

= (crel: & 8)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
FoHIZE OIUA =AM (SXAE) (=) 10,000 45,000 735,000

7| 5,000
= 900
= 4,100
401 AIEHIL 2L 10,000 45,000 A35,000
J| 5,000
= 900
= 4,100
01 Al&H| 10,000 45,000 A35,000
OFUANZUUXI XA (ZXIAIA)
10,000,000&! %170 2 10,000
J| 5,000
L= 900
o 4,100
FAHE MUK SXAL(HASE)(Z1D) 18,000 39,000 A21,000
J| 12,600
= 1,600
o 3,800
01 A& UYL 28] 18,000 39,000 A21,000
J| 12,600
T 1,600
= 3,800
01 Al&H| 18,000 39,000 A21,000
OFAHAZHHNEXAMS (MNAES)
1,000,000& * 1871 A 18,000
J| 12,600
T 1,600
= 3,800
ST X XS X2 AN 5,990 127,954 A121,964
J| 2,995
= 2,99
401 AIEHILE20HH] 5,990 127,954 N121,964
J| 2,99
= 2,99
01 Al&Y| 5,990 127,954 AN121,964
OAITHMOIATI HTHDIBHE A AR (BHL2l Of
S3|H) 5,990,000 x 10 A~ 5,990
J| 2,99
= 2,995
MEFDoH2tel (BHE /1) 1,711,240 1,389,810 321,430
= 947,000
J| 86,120
& 194,300
= 483,820
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S ZRIOILTID
A Mstagiae|(&F/0101)
el MEEo 2l EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
3ol 22l 1,711,240 1,389,810 321,430
= 947,000
J| 86,120
T 194,300
= 483,820
HIMHEE AIZE 2AIDIA F2AMEY X 19,000 19,000 0
J| 9,500
= 9,500
201 etEA| 19,000 19,000 0
J| 9,500
= 9,500
01 AP 22|H| 19,000 19,000 0
ORCHHHEEE 25 X(MNHHEE B,
E=H|) 19,000,000 & * 14 19,000
J| 9,500
o 9,500
2LDIA 245 29 K& 8,800 8,800
308 XX SHSO0IA 8,800 8,800
11 SIS UEHE A X E AL 8,800 8,800
022 WA SHLIH XD
8,800,000 %13/ 8,800
EIAZOIEN &9 10,740 4,200 6,540
J| 5,370
e 5,370
301 B8 XZ 10,740 4,200 6,540
J| 5,370
= 5,370
14 J|EtE A2 10,740 4,200 6,540
OEHAZOIEHN 2
18%10,740,000£ 1 E 10,740
J| 5,370
= 5,370
&I XS X 200 1,171,000 1,155,400 15,600
= 710,000
& 141,500
= 319,500
402 RI2EXIE01 A 1,171,000 1,155,400 15,600
= 710,000
= 141,500
= 319,500
02 QIEXIEAMEE R (O|MTHS) 1,171,000 1,155,400 15,600
OFIINETHEE, 312) 200 K (22600,
SH=23504) 1,171,000,0002! * 14! 1,171,000
= 710,000
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S ZRIOILTID
A Mstagiae|(&F/0101)
TRl MESOH 2tel (He|: A 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
= 141,500
= 319,500
&I10IEXH 204 25,200 20,790 4,410
= 12,000
= 4,800
= 8,400
402 QI2EHXH201 M 25,200 20,790 4,410
= 12,000
= 4,800
= 8,400
02 DIZFRFE AN 2 X (01 THS ) 25,200 20,790 4,410
O&EII0IEX 04 X
1,680,000&! * 15CH 25,200
= 12,000
= 4,800
= 8,400
ANsit BEAZOIEN 29 2,500 120 2,380
J| 1,250
= 1,250
301 B8N =2 2,500 120 2,380
J| 1,250
= 1,250
14 J|EtE2 A2 2,500 120 2,380
OXESA EHAZOIER 29
1&%2 500,000 1 E 2,500
J| 1,250
= 1,250
H2XE JI=XIAH D=2 HS0= 26,000 26,000
308 XX SIS0l A 26,000 26,000
11 S| 2SO CHSH A HE AL ] 26,000 26,000
OS5 S NPAIRHE 0/2EI}
13,000,000& *23| 26,000
MEDH E2 & Bl 3,000 4,000 21,000
201 YEr2AHH| 3,000 4,000 21,000
01 AF222|HI 3,000 4,000 A 1,000
OJI=H3 s g2 1,000
OEAZQIEN EE2H|
500,000& 13 500
ORIAHEY =22 25 ¢
500,000& *13] 500
OIS EE L 2g2tel
2,000,000& 14 2,000
2AXSX 200 K& 345,000 177,500 167,500
= 225,000
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S ZRIOILTID
A Mstagiae|(&F/0101)
TRl MESOH 2tel (He|: A 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
= 438,000
= 72,000
402 QI2EXH=01 S 345,000 177,500 167,500
= 225,000
& 48,000
= 72,000
02 QIZFAEAIE 2R (0IETHS) 345,000 177,500 167,500
O4AXEX POHKIE
34,500,000& = 10CH 345,000
= 225,000
& 48,000
o 72,000
JIZ=XNAA EASE JIS2HE 8 100,000 0 100,000
J| 70,000
= 30,000
308 XX SHSO0IA 100,000 0 100,000
J| 70,000
= 30,000
1 B 2SH U EAEE AR 100,000 0 100,000
OI|Z=XIAM EASEH JI2HE
100,000,000& * 13| 100,000
J| 70,000
= 30,000
EA0|Y SAX(AM - SAILLUHHX/AESEXH) 698,174 1,240,500 NBA2,326
= 43,337
= 654,837
S 3H 2435 698,174 1,240,500 N5A2,326
= 43,337
= 654,837
=AY 282 ¢ T2 XE 136,500 145,500 A9,000
201 et AH| 35,000 34,000 1,000
01 AF222|H| 30,000 29,000 1,000
OTIILSHNS AAIAE Xt
3,000,000& 14! 3,000
Oz JIgHE &4 MA 22 Y
7,000,000 * 14! 7,000
O02R% 2etg =222 2Y
2,500,000 *83] 20,000
2 332%Hl 5,000 5,000 0
OZW JIENE RAAZTNII(IIAD)
29 1,250,000 *4JH 5,000
202 O4H] 1,500 1,500
01 Z2LHoY| 1,500 1,500
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2A:

ZHI0IH X2

=

HiM: SA)Y SAXK(AY - SAD|SL0HKXI/ASESEXH)
el SA0lY 2Y @5 (o9l 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
FESEREEEES
150, 0002 2 *53| 1,500
308 XXISHHSOIA 100,000 110,000 A\ 10,000
11 S| 2SUHUEHE A S E AL 100,000 110,000 210,000
O4+EZHMHAUSI XA
10,000,000& *10&] 100,000
SHE0I X KR AN 200,000 200,000
307 2I12+0| A 200,000 200,000
B oIXt2& 2 200,000 200,000
OIS 01X N AR
200,000,000 * 14! 200,000
AN 282 9 HEXJ(=AE) 30,000 30,000
308 XX SIS0 A 30,000 30,000
11 2SI 2SS B AE A E ALY 30,000 30,000
o)y Stsd EE 0 XA
3,750,000 *8IH A~ 30,000
S0 B8 EMHS XA 45,000 45,000
403 XX MS K201 & 45,000 45,000
02 SISO S A2 EAEAIS Y| 45,000 45,000
O=AJg SEIME K3AALS
15,000,000 & *3H 2~ 45,000
S2HX AF01Y S|4 AR 60,000 120,000 60,000
= 30,000
= 30,000
307 21201 A 60,000 120,000 60,000
== 30,000
= 30,000
02 QIZHEAMAIEE X 60,000 120,000 60,000
O=3HAl 23J1 SFH| XA
3,000,000& *200H 60,000
= 30,000
= 30,000
XIATHA Relst X 26,674 40,000 A13,326
= 13,337
= 13,337
307 QI2+0| M 26,674 40,000 N 13,326
& 13,337
= 13,337
02 QIZFEAMAIRE A 26,674 40,000 A13,326
OZRAT XAMA HEZS K3AA
5,334,800& x5J4 A~ 26,674
= 13,337
= 13,337
ADE SAHNYA sSHA JlgtEd II& 200,000 300,000 »A 100,000
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A ZHO0H K

=

Zu: SA0/Y SAXB(NY - SAILL0ILT/HLSENE)
= S48 2 g24d3) EERSED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
401 A& HIL 208 200,000 300,000 A100,000
01 AlIEHI 200,000 300,000 A 100,000
OADIE SAHHAA =3HX JUE2
ME(EXIOHL) 200,000,000 * 14 200,000
18 EM L (A =R/ = S) 1,615,347 3,187,146 21,571,799
ax 180,860
= 445,253
= 989,234
A 2te| 1,615,347 3,187,146 21,571,799
Fas 180,860
& 445,253
= 989,234
23 dSUXE| AH 400,881 337,034 63,847
= 12,000
= 388,881
101 el24d| 400,881 337,034 63,847
& 12,000
= 388,881
M4 IIRHHMZ22AsEs 400,881 337,034 63,847
O A AX2IAIY 2I24HI(=H])
3,750,000 x16H 60,000
& 12,000
= 48,000
XIS AUTI2ZIAIY 1B (KHA)
21,305,062& x 169 340,881
NNE2SH LRI AIS (HEAIY) 508,260 508,261 A1
& 330,369
o 177,891
101 @124 8] 476,260 455,902 20,358
T 309,569
i 166,691
M IIRHHZ2Z2XSES 476,260 455,902 20,358
ONAZEN LN2IAL
11,906,500 *40H 476,260
& 309,569
= 166,691
201 Btz AY| 2,000 5,000 A3,000
= 1,300
= 700
01 At 2teldl 2,000 5,000 A3,000
OXESsH LA2IAtE 23Ul
2,000,000& =14 2,000
& 1,300
= 700
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2A:
R
(=

S9l:

S (AEIEX/ = S)

(etel: &)

S - B OR(B) - HSAY - BAS

Ofl ot

rS[El=
PET

HuwsZ

206 M=l

Mo

30,000
19,500
10,500

46,859

A 16,859

01 =4I
OXSESSH LRelArd =t

30,000,000& = 14!

Mo

30,000

30,000
19,500
10,500

46,859

216,859

XAFEE HEAXRIAIE(2D)

Moo

38,920
20,160

5,628
13,132

102,865

263,945

=Y

HH

26,320
13,160
3,948
9,212

50,000

A23,680

14 JIEt2 482
OF A QlHlEl=

26,320,000 x 14

H H A

26,320
26,320
13,160
3,948
9,212

50,000

A23,680

307 2I2+01 A

H oH

12,600
7,000
1,680
3,920

52,865

240,265

OXNS=cd FEgitel NHEEASA

12,600,000& * 14!

MO

12,600

12,600
7,000
1,680
3,920

52,865

A40,265

ARIEDIY SH(2XRIEE)(R2)

HoH

20,000
15,000
1,000
4,000

20,000

307 212+01 A

HOH

20,000
15,000
1,000
4,000

20,000

20,000,000& * 14!

RAREY

20,000
20,000
15,000

1,000

20,000
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A BRI B
T D2 5F W OHH(MIAZK/ - S)
Sl AHONE 2tel (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
| = 4,000
MNEIEIIY SH(AIRIEE2)(=21) 3,600 5,000 A1,400
= 2,700
= 180
= 720
307 Q1201 ™ 3,600 5,000 A1,400
s 2,700
= 180
= 720
02 QIRHHAAIEE X 3,600 5,000 A1,400
OABIEIIY ABlZEE e
3,600,000 *14] 3,600
ax 2,700
T 180
= 720
23S At3lEEE XA 81,120 320,000 /\238,880
& 40,560
= 40,560
307 2I12t0|1 A 81,120 320,000 A238,880
& 40,560
i 40,560
02 QIIBAAMEE X 81,120 320,000 A238,880
2T AIZIEEE XIE
1,978,536 *410 2 81,120
= 40,560
= 40,560
MAE 10! TSR AL 2EE NJAY 38,000 80,000 A42,000
= 19,000
= 19,000
307 2I2to1 A 38,000 80,000 A42,000
& 19,000
i 19,000
02 QIZFEAAIHEEER 38,000 80,000 A42,000
OMAIE 121 NALX ALSIEE = X2 (11000
) 38,000,000 14! 38,000
T 19,000
o 19,000
ZLXe| oA B KIRAA 244,400 249,600 25,200
308 XXISHHMSOIN 244,400 249,600 5,200
07 XX X2 2SS 244,400 249,600 Ab,200
REE dXtel eralSH NB A
244,400,000 14 244,400
HAAINALY 22| 610 610
301 LerENZ 610 610
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SA: ZRIOIETID
HM: g =X L A (AE=SR/ES)
Sl AHONE 2tel (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
14 JIEt2 &= 610 610 0
OXUANMAY DREB ALY
610,000 *12 610
ATelAE EEY FX 7,836 11,79 3,960
201 et2AY| 5,676 5,676 0
01 ALR22IH| 3,000 3,000 0
OLNE N SEE W s R
3,000,000& =14 3,000
2 2222l 2,676 2,676 0
QYXeIIAT B8R
40,0002 128 480
ogxeII2AT RXES
183,000 x12& 2,1%
202 (it 2,160 2,160
01 =LH0dHI 2,160 2,160
CENE TS
60,0002 *32H *123] 2,160
KNGS AE HEALRZIAIG(=1) 191,520 182,250 9,270
= 106,400
& 25,536
o 59,584
307 2I2H0| ™ 191,520 182,250 9,270
= 106,400
T 25,536
= 59,584
02 QIZFEAAIEE X 191,520 182,250 9,270
OXFsdd HEUTCIAY
1,995,000 *8I A 128 191,520
= 106,400
T 25,536
= 59,584
Xes sy HEALXI2IAIG (XHA) 5,000 5,000
307 2I12t01 N 5,000 5,000
02 QIHEAAMHE S 5,000 5,000
OXEXAH (nsSHl)
50,000 «108 103 5,000
AEDINY HHFETAY HEUX2AIE(RD) 73,200 67,500 5,700
= 36,600
& 10,980
= 25,620
307 2I2t0|1 A 73,200 67,500 5,700
s 36,600
== 10,980
= 25,620
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fAM: ZHO0U X B
Mz NE =X L HH(AMIEX/=S)
Sl AIHHE 2t (He|: A 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
2 QI AA B E 73,200 67,500 5,700
04N HABAXNAE ALK
Ared 18,300,000 & *4JH A~ 73,200
iy 36,600
= 10,980
= 25,620
AERDXSE HEARAXJE HEAUXISI AP (KFA) 2,000 2,000
402 QI2EXHE01 ™ 2,000 2,000
01 CIZHAF=2 AN 2 R (RIS 2,000 2,000
OXEXI I (A SH)
1,000,000&*2H*13| 2,000
NEATOHE J|etEg (A - SAIISLHHXI/AHEE - 1,459,545 543,420 916,125
==
= 2,320
& 44,703
= 1,412,522
HEANE 4 XA 1,283,316 194,420 1,088,8%6
& 21,430
= 1,261,886
HEAIE 435 K& 85,311 77,940 7,371
201 et AH| 49,560 46,560 3,000
01 AF222|HI 19,200 19,200 0
OYAUSAE 2HXIA
600,000& 121 & 7,200
ONSAIE 43 =2= &
1,350,000& 23] 2,700
ONEAIE OHHZHE SX| B4
750,000 & *204 A~ 1,500
OSUXMEANEY FXE M|, 28, S22 =
Xl 22| 650,000& x 12& 7,800
2 352%Hl 30,360 27,360 3,000
OYUXMSAIE CCTV U=
380,000 ~12& 4,560
OYUMSANEY FIUE SEZHMAIAE 2H
900,000 12& 10,800
OUUNSAIE F=XE 2U2(HD|, &bt
<, 2y 5) 1,250,000& 12 15,000
202 04H] 1,200 1,300 A100
1 2LHodHI 1,200 1,300 A100
ONSAIE 45 g2 =X
120,000& «2H *53| 1,200
301 YEtBNZ 4,471 4,471
11 HAFAHIXIR 2 4,471 4,471
OAl&EEs &1 XI&
231, 100& x5 H 23| 2,311
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2A:

ZHMI0L Xl 2t

I TIFHOIE JIBIEE (MY - AU/ MLTE - DT
= MSAE s4 X EERSED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
OESAIE &ol 3E &It
108,000 *5H 43| 2,160
401 AIEHIZL 0] 20,000 20,000
01 AlZHI 20,000 20,000
OHESAIE & U=SEHIE ML= R B+
20,000,000 & * 14! 20,000
402 QI2HXE01H 10,080 10,080
03 QIZIEALS I 10,080 10,080
OdSAIE a3 23 N
840,000 123 10,080
HEAIE orEzte| X1 93,605 65,280 28,325
T 21,430
= 72,175
307 2I2t0| A 93,605 65,280 28,325
T 21,430
= 72,175
02 QIZFEAAIE B X 93,605 65,280 28,325
OFSAIE XIZ0| X2 (SHIEEAY)
2,643,0002 2%« 12& 63,432
& 19,030
= 44,402
OFESAIE XIZ0| X2 (2HIXEMAR)
31,716,000 » 141 «80% 25,373
QFEANE FMEE LKA
4,000,000 * 141 +60% 2,400
& 1,200
= 1,200
OFSAIE SITHSH X
4,000,0002 * 1A x60% 2,400
& 1,200
= 1,200
A% =MSSJAE T 1,104,400 1,104,400
401 A& HIZ 21| 1,104,400 1,104,400
01 A& HI 1,104,400 1,104,400
O2LY =ASSIANFAMY JIE L AAIE
HEY 1,027,700,000 & 14! 1,027,700
O HAESESAFAY &S & X
BEEALES 42,400,000 * 14| 42,400
O HAUZSESIANFAY MBS &
SONE HEE 34,300, 00021 14! 34,300
sotatel & AHIX B5 42,929 12,200 30,729
= 2,320
= 10,623
= 29,986
skl & AcHEA 5,200 5,200 0
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2A:

X ZH -
o=

ZHMI0L Xl 2t

XS3HMetd Jlg

©elr Sok2tel & 1N CERED)
SA - HH .G (3) - HSAY - BA2 ﬁlﬁg HRS2
201 YEr2AHH| 3,900 3,900
01 AtR22|bl 3,900 3,900
OSIHH= /&
70,000&*10ZE *x23] 1,400
oIt E22 M 5,000 *5009H 2,500
202 o4H] 1,300 1,300
01 2L 1,300 1,300
O=JHHz 2t
130,000 x2H %53| 1,300
210t 2YEAL 37,729 7,000 30,729
= 2,320
T 10,623
= 24,786
301 LetE ™= 37,729 7,000 30,729
= 2,320
& 10,623
= 24,786
14 J|EIE A2 37,729 7,000 30,729
O=SHAAA b XA
2,000,000 =154 A~ 30,000
= 9,000
o 21,000
ORSHIAAA F XA (2D)
515,266 * 1500 A~ 7,729
= 2,320
& 1,623
= 3,786
Ao XA 133,300 336,800 203,500
T 12,650
= 120,650
ANSOl HMH St 100,000 110,000 10,000
402 BI2EXH=0| A 100,000 100,000 0
01 QIZERHE2 AN 2 & ( 100,000 100,000 0
OaatE0l AHE ARE AIEINA
20,000, 0003 *5J4 A~ 100,000
LetRAZ2 M K& AN 13,300 226,800 A213,500
= 6,650
i 6,650
307 2I12+0| A 13,300 226,800 A213,500
= 6,650
= 6,650
02 Q2HE A AL 13,300 226,800 A213,500
OLetRALZH = A2AS
10,0002 * 190 +7 & 13,300
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2A:

ZHMI0L Xl 2t

I TIFHOIE JIBHEE (MY - EAIIAUNLKI/MTE - DT5)
= Aatzel X EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
= 6,650
= 6,650
UCHAIA HHEH 435 XA 20,000 0 20,000
T 6,000
= 14,000
201 LetEAH| 8,000 0 8,000
= 2,400
= 5,600
01 AFR22|b| 8,000 0 8,000
OLYCHAIA HHE N -3 X
2,000,000&%x42 0| 8,000
= 2,400
= 5,600
308 XX &S0l A 12,000 0 12,000
T 3,600
= 8,400
11 S| 2SUH st A S E AN 12,000 0 12,000
OLYTHAIZ] BHESY DHIHE &
1,000,000& x12& 12,000
T 3,600
= 8,400
HMSAZH| (FRMOAH XD (DIEHDIE 117,979 132,611 AN14,632
ol (ML Xl 78,479 83,097 N9,618
ol HH| (MO0 X 78,479 83,097 N9,618
101 @124 76,079 85,697 29,618
01 24 68,341 78,056 N9, 715
OF1U2P4E 10,9523 %1301%480 A1 2+ 68,341
03 2R (RIAHX) 22X+ 7,738 7,641 97
OF DA A 3,720
OAlZII =S
13,7773 %180 Al 2H+150%*1H 3,720
O=2JI2LIHRY 4,018
OAIZII &
14,8303 x 150%* 15 A 2Hx 1H « 12& 4,018
202 o44] 2,400 2,400
01 2LH0oY| 2,400 2,400
OF SN A 1,200
OF AL AHBRE) ESH0YI
20,0003 *603| * 14 1,200
O2JIZ2LIH2JA 1,200
OSIIZUHRA(BRE) &0l
20,0002 %603 *1H 1,200
JI2Zd(FMHIH XD 39,500 44 514 N5,014
JI2Z (G Mo X 39,500 44 514 N5,014
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2A: ZHO0U X 2
HH: HE2AAHI(ZMOILXID) (JIEH/IIE

CHl: D=2 (2R ol 4 XD (69l =9l)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
201 YEr2AHH| 24,300 25,014 AT14
01 At222| 8| 24,300 25,014 ANT714
Ogt==2H| 14,940,000 & 1A 14,940
o=t 5,760,000 * 14 5,760
OYUXI= 3,600,000& x 14! 3,600
202 oidl 11,600 15,900 A4,300
01 2LH0Y| 11,600 15,900 A4,300
OgYR=& J|IE0H| 11,600,000& * 14 11,600
203 HRF&H| 3,600 3,600
04 REA2HLRFE| 3,600 3,600
MY L RE=EH| 300,000& * 12& 3,600
HMLES(FHOHU X (LS 2 A /2B A ) 551,640 741,614 A 189,974
WHEHHKIZ 551,640 741,614 N 189,974
WHEHH XIS 551,640 741,614 A\ 189,974
701 JIEGIHSE S = 551,640 741,614 A 189,974
01 JIEFSIHIEE2 551,640 741,614 N 189,974
Oz=ssHAXTHANAELEZN MNE2
529,850,000 & * 14! 529,850
OYEAFHIAXNAAMNAELZH &2
21,790,000& 21,790
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